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1L XKEMRBETAES
-DIP-GX ¢ 200mm

- SUS ¢ 200mm



F15HEE

®200mmEKERRTE HEHEE
(THHE)
EB:0%;

$.200mmDIP-GX $200mmSuUsS
®.200mmDIP-GX. L=455.8m ®200mm . SUS. L=8.6m
856200 N=1£

(HE/K &) ¢.100mmDIP-GX ¢ 100mmHIVP
(HE7K &) ¢ 100mmDIP-GX_L=2.2m

¢ 100mm HIVP L=1.6m

TEREL: LY 0Im (B
BRI Bl # S R
ARSI | A EEME(2) | ABEHME(2)| AR EHME()| ABEHME(2) BT [z
¢ 200DIP-GX | ¢ 200DIP-GX | ¢ 200SUS | ¢ 200DIP-GX | ¢ 758k KE
I % W A B ME L=4010m | L=239m L=8.6m L=30.9m L=3.8m ER ER | &
STE NEHHA
o) GXFfiz BE ¢ 200 x 5000 X 72 69 5000 | = |360.000
STE NEHHA
GXfz EEEIAE) ¢ 200 % 5000 A 15 9 70.530 |1 EAE LY
STE NEHHA
GXfz EEWRAE) ¢ 100 x 4000 & - 1.000 | )SEE LY
GXJt RE#RE
#hE90° ¢ 200 & 2 0750| = | 1.500
GXF NERMHE
#hE90° 975 & 1 0520 = | 0.520
GX it RE SR
B 45° ¢ 200 & 10 9 0530 | = | 5.300
GXt RE#RE
B &22 1/2° ¢ 200 & 4 2 0450 | = | 1.800
GXF NERHE
BE 1/4° ¢ 200 & 9 2 0410 | =| 3.690
GXit RE#RE
&S5 5/8° ¢ 200 & 7 3 0410 | =| 2.870
GXF NERE
i 2 E45° ¢ 200 & 14 11 0240 | =| 3.360
GXF NERME
w2 E22 1/2° ¢ 200 & 8 2 0160 | = | 1.280
GXit RE#RE
—RTFE $200% 75 & 1 0500 | =| 0500
GXit RE R E
IV HRTEE $200% ¢ 75(7.5K) | @ 7 5 0470| = | 3.290
GXit RE#RE
WEH ¢ 200 & 3 1 0250 | = | 0.750
GXF NERE
mREE ¢ 200 & 1 0020 | =| 0.020
GXF NERE
4% ¢ 200 4 19 11 0039 | =| 0.741
GX#2
ERERaNA 200 #8 40 19
GX#%
ERERGHS ¢ 100 #A 3
GX#2
G-Link ¢ 200 4 54 30
I5VVE ¢ 200(GF7.5K) & 2 1 REEEER
SUS HGXANY L HiED
45° “HE 200AX 700% 1202 % 680 | A 1 2582| = | 2.582
SUsS FEORKED BEE 200A X 2000 2 2000| = | 4.000
SUS AGXAhY L HEN
45° —HE 200A X 700 X 673 X 680 X 1 2053 =| 2.053
VLPEE ¢ 100 X 4000 & 1
90° TILK 100 & 2
vevaq vk 100 & 1
GXit RHMEE
VIR — Lt F ¢ 200(F %) -3 1 0260 | = | 0.260
GXit RHNE R E
YIbL— it & 100(524%) 1 049 | =| 0490
BEERH ¢ 25(1.5K) 7 5
¢ 75% H150
e GF-RF/7.5K -3 7 5
¢ 200
ISUCMEH GF 7.5K 4 2 1
¢75
IO CHFEM GF 7.5K | 14 10
2oV ke R ¢ 75 #A 7 5 s — KA
Loavs
HOHERYIR $200 H=0.7m 4 1
(=%}
HOHERYIR ¢ 100 H=0.75m #A 1
Loavs
ZRARYIR $25 H=0.7m 4 7 5




ARSI | A EEME(2)| ABEHME(2)| AR EHME()| AR EHME(2) BT [z
¢ 200DIP-GX | ¢ 200DIP-GX | ¢ 200SUS | ¢ 200DIP-GX| ¢ 75HEKE
I £ Rk <t 5 Bt HE L=4010m | 1=239m L=8.6m L=30.9m L=3.8m EE EE
(ZRTFE IF55) ¢ 200 % ¢ 100 & 1 1 0.170
BELER
(R EED) ¢ 200 DIP-GX m 455.891 401.029 23917 30.945
¢ 100 DIP-GX m 2.180 2.180
¢ 200 SUS m 8.635 8.635
100 HIVP m
BELER
HE#£KRO ¢ 200 DIP-GX m 455.631 401.029 23917 30.685
¢ 100 DIP-GX m 1.690 1.690
¢ 200 SUS m 8.635 8.635
¢ 100 HIVP m




AREHAR()| AR EHERQ)| ARG HAEQ)| KR EHERQ)| FREHORQ)
¢ 200DIP-GX| ¢ 200DIP-GX| ¢ 200SUS | ¢ 200DIP-GX| ¢ 754E/KE
| Ti8 £ ) AR5 (B 8 L=401.0m L=23.9m L=8.6m L=30.9m L=3.8m B =
=354
$i# | BREREGT ¢ 200 m 430.846 401.029 16.329 13.488
AN
S EIREMA T ¢ 200 m 24.785 7.588 17.197
B
S ERMAT ¢ 100 m 1.690 1.690
SHERE
Yl T ¢ 200 ] 40 UERELY
SEERE
T ¢ 100 ] 1 UERELY
GX#FEET
(EE) ¢ 200 m] 87 78 4 5
GX#FHEET
(BEE) ¢ 200 ] 40 19 9 12
GX#FHEET
(REE) ¢ 100 ] 3 3
G-Linki#& T ¢ 200 ] 54 30 12 12
AN
SEREMAT ¢ 200 m 8.635 8.635
it E#F T ¢ 200 ] 3 3 SHEMTFE
EBMFET ¢ 200 ] 3 3 SHEMTE
eIV RE
BT ¢ 100 m 1.600 1.600
TS#FT ¢ 100 [m] 4 4
AN HIVERFT ¢ 100 [m] 1 1 veoaqa DVl
ES373
ANZHIVIRFT ¢ 100 m] 1 1 veoaA Dol
. B
HUHRET ¢ 200 ® 1 1
. =354
HUHRET ¢ 100 = 1 1
) AN
ERRAHRET 25 E-S 7 5 1 1 2V CEREIMET
IV HFET ¢ 200(7.5K) ] 2 1 1
IV MFT @ 75(7.5K) m] 7 5 1 1
170V HEE R
Bt T b 75 a 7 5 1 1 wEsE— R
15 #%E
BEHE ¢ 250 & 2 1 1
Ly vavy) - 15 LIpEE
K yYASRE(FR2) H=150mm & 1 1
Ly vavhy -+ 15 LETERE
Ry RERE () H=300mm & 1 1
Ly vavhy - 15 TEBRE:
K yYASRE(FR2) H=300mm & 1 1
Ly vavhy -l 15 KR
K Y ASRE(FIR2) H=40mm @ 2 1 1
35 HE
BEHE ¢ 500 & 7 5 1 1
Ly vavhy -l 35 LEpEE
Ry AERE(ER) H=200mm 1@ 7 5 1 1
Ly vavhy -+ 35 THERE:
Ry AR E(ER) H=200mm 1@ 7 5 1 1
Ly vavhy -l 35 EhR
R vy RERE(F ) H=40mm & 7 5 1 1
FYIFLVRY-T £ES
BT ¢ 200 m 455.631 401.029 23917 30.685
FYIFLVRY-T £ES
BT ¢ 100 m 1.690 1.690
SHERE
BRI T ¢ 200 m 455.631 401.029 23917 30.685
SHERE
BRI T ¢ 100 m 1.690 1.690
S BRI HEC
BRI L ¢ 200 m 3.275 3275 sils§5—5.360
EZLE
BRI T ¢ 100 m 1.600 1.600
BEZRY-PT | W=1502f$73A) | m 456.900 397.000 23.600 2.800 30.300 3.200 TIERLY







¢ 200mmiEKERBITE YIEFRE

GXFESFE ¢ 200mm BUE ZUE ZyE zZyeE zZyE | A BE I8 | G-Link HE
‘S| &% Rtk ~ti& (m) (m) ([ | (EFR)
GX-G G-G G-GX
1 DIP-GX $200x5.0 4 251 5 1.30] 1 1.00 4.81 0.19 3 4
GX-G
2 DIP-GX $200x5.0 6 4.35 4.35 0.65 1 1
GX-G G-GX
3 DIP-GX $200x5.0 10 3.30| 9 1.46 476 0.24 2 2
GX-G G-G G-GX
4 DIP-GX $200x5.0 14 227 12 1.30] 3 1.25 4.82 0.18 3 4
GX-G G-GX
5 DIP-GX $200x5.0 16 3.50| 19 1.14 4.64 0.36 2 2
GX-G G-G G-GX
6 DIP-GX $200x5.0 18 217] 13 0.89| 7 1.46 4.52 0.48 3 4
GX-G G-G G-GX
7 DIP-GX $200x5.0 20 1.38] 15 2.45| 11 0.89 4.72 0.28 3 4
GX-G G-G G-GX
8 DIP-GX $200x5.0 22 1.27| 21 1.14| 17 245 4.86 0.14 3 4
GX-G G-G G-GX
9 DIP-GX $200x5.0 23 1.12| 8 2.90| 2 0.82 4.84 0.16 3 4
GX-G G-G G-GX
10 DIP-GX $200x5.0 24 1.01] 31 1.28| 35 2.62 4.91 0.09 3 4
GX-G G-G G-GX
11 DIP-GX $200x5.0 25 1.85| 38 1.02| 37 1.79 4.66 0.34 3 4
GX-G G-GX
12 DIP-GX $200x5.0 29 3.20| 26 1.37 457 043 2 2
GX-G G-G G-GX
13 DIP-GX $200x5.0 33 0.86]| 32 1.00| 27 257 443 0.57 3 4
GX-G G-G G-GX
14 DIP-GX $200x5.0 34 2.78| 39 1.14| 30 0.94 4.86 0.14 3 4
GX-G G-G G-GX
15 DIP-GX $200x5.0 36 1.19] 40 2.28| 28 1.31 4.78 0.22 3 4
BEEE
EEp
4.470 mX 31.17 kg/m = 139.33 kg
BLOZH
1 B % 0.36 ke/BIRT = 0.36 kg
it 139.69 kg
=E1 70.530  4.470 40 51




RERELTTIER ¢200 TERELY
TIES| OF [#E4& N E ik

1-1 ® 200 m 1.900 1.90
1-2 ® 200 m 7.900 7.90
2-1 ¢ 200 m 25.000 25.800 24.700 38.300 38.600 | 203.700 3.200 359.30
2-2 ® 200 m 2.300 2.30
2-3 ® 200 m 1.800 1.80
2-4 ® 200 m 19.300 19.30
2-5 ® 200 m 0.800 0.80
2-6 ® 200 m 3.100 3.10
2-17 @ 200 m 5.500 5.50
3-1 ® 200 m 3.300 3.30
3-2 ® 200 m 1.500 1.50
7-1 ® 200 m 4.000 4.00
7-2 ® 200 m 3.400 3.40

8 ® 200 m 6.400 6.40

9 @ 200 m 4.700 4.70

10 ® 200 m 3.800 3.80
11-1 ® 200 m 15.400 15.40
11-2 ® 200 m 3.700 3.70

12 ® 200 m 2.700 2.70

14 ® 200 m 1.600 1.60

15 ® 200 m 1.200 1.20







(2/3)

2-7 3-1 3-2 7-1 7-2 8 9 10
ARELTHE $200 $200  H=190 [ #200 H=070 | ¢200 H=1.15 | ¢#200 H=0.70 | ¢200 H=1.00 | ¢200 H=0.30 [ #200 H=0.30 | ¢ 200  H=0.90
L= 5.50 L= 3.30 L= 1.50 L= 4.00 L= 3.40 L= 6.40 L= 4.70 L= 3.80

—_ Z & B ER N E
2

| £ %5 fR 4] b4 T | .wmw *w,u_ 5cmET m | 2.000 11.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 11.00

| £ %5 fR 4] b4 T | .W #.wu_ 5¢cmET m 0.00 | 2.000 6.60 | 2.000 3.00 | 1.000 4.00 | 1.000 3.40 | 1.000 6.40 | 1.000 4.70 0.00 28.10

SESERREE T .wmm Nm_w_og&._u m2| 0.900 4.95 0.00 0.00 0.00 0.00 0.00 0.00 0.00 4.95

SHERRERIE T o> M_osmmwagﬁ m2 0.00 | 0.600 1.98 | 0.600 0.90 | 0550 2.20 | 0550 1.87 0.00 0.00 0.00 6.95

SHERRERIE T o> M_osmmwagﬁ m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00

| B3 ERERIE T |Co t=10cm LT m2 0.00 0.00 0.00 0.00 0.00 | 0550 352 | 0.490 2.30 0.00 5.82
BHO.13m3

HREEI T |5 m3 | 1.860 1023 | 0.460 152 | 0730 1.10 | 0.420 1.68 | 0590 2.01 0.00 0.00 0.00 16.54

 ADIEEIT |8 m3 0.00 0.00 0.00 0.00 0.00 | 0.230 147 | 0210 0.99 | 0630 2.39 4.85
BHO0.13m3

IR RE T A4+ m3| 1.220 6.71 | 0.090 0.30 | 0.360 054 | 0.080 0.32 | 0.250 0.85 0.00 0.00 0.00 8.72

 ANIBRET |H4E+ m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 | 0.390 1.48 1.48
BHO.13m3

HEIERET |RE+ m3| 0.340 187 | 0210 0.69 | 0210 0.32 | 0.190 076 | 0.190 0.65 0.00 0.00 0.00 4.29

ADIBRT |BEL m3 0.00 0.00 0.00 0.00 0.00 | 0.140 0.90 | 0.120 0.56 | 0.200 0.76 2.22
RM-30

BRAZ T t=12¢cm m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
RM-30

BRAZ T t=17cm m2| 0.900 4.95 0.00 0.00 0.00 0.00 0.00 0.00 0.00 4.95
RM-30

BRAZ T t=22¢cm m2 0.00 | 0.600 1.98 | 0.600 0.90 | 0550 2.20 | 0550 1.87 0.00 0.00 0.00 6.95
RC-30

BRAE T t=10cm m2 0.00 | 0.600 1.98 | 0.600 0.90 | 0550 2.20 | 0550 1.87 | 0550 352 | 0.490 2.30 0.00 12.77
RC-40

BRAE T t=15¢cm m2| 0.900 4.95 0.00 0.00 0.00 0.00 0.00 0.00 0.00 4.95

BRAET m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00

BRE{EIAT  |t=3cm m2| 0.900 495 | 0.600 1.98 | 0.600 0.90 | 0550 220 | 0550 1.87 0.00 0.00 0.00 11.90
Co

BEERT .W%os m2 0.00 0.00 0.00 0.00 0.00 | 0550 352 | 0490 2.30 0.00 5.82

| 5 1R ANIE T Wwwﬁm m3| 0.050 0.28 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.28

| 5 1R ANIE T m%*wm m3 0.00 | 0.090 0.30 | 0.090 0.14 | 0.080 0.32 | 0.080 0.27 | 0.060 0.38 | 0.050 0.24 0.00 1.65

BLaET |+ m3| 1.860 10.23 | 0.370 122 | 0370 0.56 | 0.340 1.36 | 0.340 1.16 | 0.230 147 | 0210 0.99 | 0.240 0.91 17.90
X & 8 X A H=2.0m

2T T1E% fim 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
% & i AR H=2.5m

2T T2f% fim| 1.000 5.50 0.00 0.00 0.00 0.00 0.00 0.00 0.00 5.50
% & 8 AR H=3.5m

2T FIET2E fim 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00

av9Y—+$75% T]18-8-25BB m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00

BT m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00




@

43)

1-1 1-2 2-1 2-2 2-3 2-4 2-5 2-6
AFELIHE ¢200 ¢ 200 H=1.45 ¢ 200 H=2.60 ¢ 200 H=0.70 ¢ 200 H=1.08 ¢ 200 H=1.15 ¢ 200 H=1.20 ¢ 200 H=1.45 @ 200 H=1.50
L= 1.90 L= 7.90 L= 359.40 L= 2.30 L= 1.80 L= 19.30 L= 0.80 L= 3.10

i B | N 5
| SHAE AR YN BT T |As t=15cmET m | 2.000 3.80 2.000 15.80 2.000 718.80 2.000 4.60 2.000 3.60 2.000 38.60 2.000 1.60 2.000 6.20 793.00
%%ﬁu_ 5cm¥ET m 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
SHAEARERIET .m*wnu_ OcmEL T m2 | 0.900 1.71 0.900 7.11 0.600 215.64 0.600 1.38 0.600 1.08 0.600 11.58 0.900 0.72 0.900 2.79 24201
| SHAE PR ERIE T .m*m_onamﬂwanaﬁﬂ m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
| SHAE PR ERIE T Wm_onamﬂwanaﬁﬂ m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
| SHAERREUET A\u/oum_u_ OcmPAF m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
B IEEI T w“_._mw_ ome m3 | 1.460 2.717 2.490 19.67 0.520 186.89 0.750 1.73 0.790 1.42 0.820 15.83 1.460 1.17 1.500 4.65 234.13
| ADIEEIT | +5 m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
[ HERIR R T WI%._UMBQ m3 | 0.720 1.37 1.760 13.90 0.090 32.35 0.320 0.74 0.360 0.65 0.390 7.53 0.810 0.65 0.860 2.67 59.86
I ANIBRET |4+ m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
IR T .W_.._WP_UMBQ m3 | 0.340 0.65 0.340 2.69 0.210 75.47 0.210 0.48 0.210 0.38 0.210 4.05 0.340 0.27 0.340 1.05 85.04
ADIBERET |[BEEL m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BRAZ T L_wux_mwmg m2 | 0.900 1.71 0.900 7.11 0.00 0.00 0.00 0.00 0.00 0.00 8.82
BRAZ T L_wux_wwmg m2 0.00 0.00 0.600 215.64 0.600 1.38 0.600 1.08 0.600 11.58 0.900 0.72 0.900 2.79 233.19
BRAZ T L_nuuz_mmwmg m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BRAE T L_wummwwg m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BRAE T L_wummwwg m2 0.00 0.00 0.600 215.64 0.600 1.38 0.600 1.08 0.600 11.58 0.900 0.72 0.900 2.79 233.19
PRAEET m2 | 0.900 1.71 0.900 7.11 0.00 0.00 0.00 0.00 0.00 0.00 8.82
BREERT m2 | 0.900 1.71 0.900 7.11 0.600 215.64 0.600 1.38 0.600 1.08 0.600 11.58 0.900 0.72 0.900 2.79 24201
BEEIHT m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
| ZRiR I8 T m3 | 0.050 0.10 0.050 0.40 0.030 10.78 0.030 0.07 0.030 0.05 0.030 0.58 0.050 0.04 0.050 0.16 12.18
| ZRiR I8 T m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BT m3 | 0.740 1.41 0.730 5.71 0.430 154.54 0.430 0.99 0.790 1.42 0.820 15.83 1.460 1.17 1.500 4.65 185.78
+2T fm| 1.000 1.90 0.00 0.00 0.00 0.00 0.00 1.000 0.80 1.000 3.10 5.80
+2T Hm 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
+2T Hm 0.00 1.000 7.90 0.00 0.00 0.00 0.00 0.00 0.00 7.90
9147 E% T m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
AT m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00







(3/3)

11-1 11-2 12 14 15 Rk
KFETTITHE 6200 $200  H=070 [ #200 H=0.70 | ¢200 H=1.25 | ¢200 H=0.50 [ ¢200  H=0.25
L= 15.40 L= 3.70 L= 2.70 L= 1.60 L= 1.20 N= 1.0
—_ Z & B ER N E 2=
2
| £ %5 fR 4] b4 T | .wmw *w,u_ 5¢cmET m 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 800
| £ %5 fR 4] b4 T | .W #.wu_ 5¢cmET m | 1.000 15.40 | 1.000 3.70 | 1.000 2.70 | 1.000 1.60 | 1.000 1.20 0.00 0.00 0.00 24.60 53
SESERREE T .wmm Nm_w_og&._u m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 250
SHERRERIE T o> M_osmmwagﬁ m2| 0.560 8.62 0.00 | 0.560 1.51 0.00 0.00 0.00 0.00 0.00 10.13 17
SHERRERIE T o> M_osmmwagﬁ m2 0.00 | 0560 2.07 0.00 0.00 0.00 0.00 0.00 0.00 2.07 2
| S 2E FRERIE T |Co t=10ecm LT m2 0.00 0.00 0.00 | 0.480 0.77 | 0.430 0.52 0.00 0.00 0.00 1.29 7
BHO.13m3
HREEI T |5 m3 | 0.430 6.62 0.00 | 0.740 2.00 0.00 0.00 0.00 0.00 0.00 8.62 260
 ADIEEIT |8 m3 0.00 | 0.430 1.59 0.00 | 0.300 0.48 | 0.160 0.19 0.00 0.00 0.00 2.26 10
BHO0.13m3
IR RE T A4+ m3| 0.080 1.23 0.00 | 0.080 0.22 0.00 0.00 0.00 0.00 0.00 1.45 70
 ANIBRET |H4E+ m3 0.00 | 0.080 0.30 0.00 | 0.050 0.08 0.00 0.00 0.00 0.00 0.38 2
BHO.13m3
HEIERET |RE+ m3| 0.200 3.08 0.00 | 0.500 1.35 0.00 0.00 0.00 0.00 0.00 4.43 90
ADIBRT |BEL m3 0.00 | 0.200 0.74 0.00 | 0.160 0.26 | 0.080 0.10 0.00 0.00 0.00 1.10 3
RM-30
BRAZ T t=12¢cm m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 10
RM-30
BRAZ T t=17cm m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 240
RM-30
BRAZ T t=22¢cm m2| 0.560 862 | 0.560 2.07 | 0560 1.51 0.00 0.00 0.00 0.00 0.00 12.20 20
RC-30
BRAE T t=10cm m2| 0.560 862 | 0.560 2.07 | 0560 151 | 0.480 0.77 | 0.430 0.52 0.00 0.00 0.00 13.49 30
RC-40
BRAE T t=15¢cm m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 240
BRAET m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 10
BRE{EIAT  |t=3cm m2| 0.560 862 | 0.560 2.07 | 0560 1.51 0.00 0.00 0.00 0.00 0.00 12.20 270
Co
BEERT .W%os m2 0.00 0.00 0.00 | 0.480 0.77 | 0.430 0.52 0.00 0.00 0.00 1.29 10
| 5 1R ANIE T Wwwﬁm m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 12
| 5 1R ANIE T m%*wm m3| 0.080 1.23 | 0.080 0.30 | 0.080 0.22 | 0.050 0.08 | 0.040 0.05 0.00 0.00 0.00 1.88 4
BLaET |+ m3| 0.350 539 | 0350 1.30 | 0.660 1.78 | 0.250 0.40 | 0.160 0.19 0.00 0.00 0.00 9.06 210
X & 8 X A H=2.0m
TET T1E% fim 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 5.8
% & i AR H=2.5m
TET T2f% fim 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 5.5
% & 8 AR H=3.5m
2T FIET2E fim 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 7.9
av9Y—+$75% T]18-8-25BB m3 0.00 0.00 0.00 0.00 0.00 | 0.350 0.35 0.00 0.00 0.35 1
BT m2 0.00 0.00 0.00 0.00 0.00 | 3.220 3.22 0.00 0.00 3.22 3




2. B/KEHEEESE
-DIP-GX ¢ 100mm

-HPPE ¢ 100mm
-SUS @ 100mm



FeEHEE

@ 100mmiEZKE Ff

(TEHE)

BRIF BEHEE

¢ 100mmDIP-GX

® 100mmSUS

¢ 100mmHPPE

@ 100mmDIP-GX |L=15.6m

$ 100mm SUS 1 =8.6m

@ 100mm HPPE 1=432m

EibES0s Y 0.Im (12
BREIRR : AR S BR
AREHAEQ) | RBEHMR) | RREHMNEG) | AREHEEQ) B i
¢ 100DIP-GX | ¢ 100SUS | ¢ 100HPPE | ¢ 100HPPE
I8 & WAL E B HE L=15.6m L=8.6m L=35.9m L=7.3m EE EE | B &
11 NEHE
L7k GX# YIAE @ 100 x 4000 E: 5 5 12170 |YIERELY
GXfz I HHA
i & 45° @ 100 @ 1 1 0.420 0.420
GXfiz I HHA
i 2 E45° @ 100 @ 1 1 0.160 0.160
GXfiz I HHA
B E22 1/2° @ 100 @ 1 1 0.380 0.380
Gx M EHHE
BRE11 1/4° @ 100 & 4 4 0.360 1.440
GXfiz I HHA
&5 5/8° @ 100 @ 2 2 0.360 0.720
GXT M EHHE
WEH @ 100 @ 1 1 0.200 0.200
GXf2 I HHA
mREE @ 100 @ 1 1 0.020 0.020
GxT M EHHE
1% ¢ 100 #8 5 5 0.029 0.145
GXT
EREHGHL @ 100 #8 7 5 2
GX#z
G-Link @100 # 7 7
SUS FGXAhHY FiE
0 45° —gheE 100A X 700 X 667 X 560 x 1 1 1.927 1.927
SUS FZOAEN BE 100A X 2000 X 2 2 2.000 4.000
SUS FGXAhHYT FE
045° @i 100A X 700x 1208x800 | A 1 1 2708 2.708
EF
AREE @ 100 x 5000 x 2 2 5000| = [10.000
EF
AREEWAE) @ 100 x 5000 x 5 4 1 DERELY
EF
AZ#EN° @ 100 @ 1 1 0610 0.610
EF
A2 E45° @ 100 @ 1 1 0.490 0.490
EF
H2ihE22 1/2° @ 100 @ 1 1 0.390 0.390
EF
HZHE111/4° @ 100 @ 2 2 0.400 0.800
EF
i 2 HhE90° @ 100 @ 4 4 0.500 2.000
EF
i 2 E45° @ 100 @ 2 2 0.380 0.760
EF
w22 1/2° @ 100 @ 3 3 0.280 0.840
EF
W E1 1/4° @ 100 @ 2 2 0.280 0.560
EF
mEF—X @100 x @ 100 @ 1 1 0.140 0.140
EF
Vb @100 @ 3 2 1
PEE 04 GFh ATy M Bt
HHUTFE ®100x ¢ 75(GFH) | f& 1 1 0.790 0.790
CXA V24 LR E
AREE#®TF ¢ 100 & 1 1 0.660 0.660
PCYaq vk @100 @ 2 1 1
PE{&E O 41
YIb =L @100 # 3 2 1 0.860 2.580
ARERA & 20(7.5K) E- 1 1
¢ 75x H150
wiEr GF-RF/7.5K E- 1 1
75
ISV MFHM GF 7.5K #8 1 1
sus
25V VRV b 75 x 4 4
ISV HmE R 75 # 1 1 s — KA
Loavs
TR RYIR ¢ 100 H=0.7m #A 3 2 1
Loavs
ERARYIR ¢ 20 H=0.7m 4 1 1




AREHAEQ) | RBEHMR) | AREHMNEG) | AREHEEQ) B i
$100DIP-GX | ¢ 100SUS | ¢ 100HPPE | ¢ 100HPPE
IiE EI) RART & B HE L=15.6m L=8.6m L=35.9m L=7.3m R EE | &
(Z2TFE ISHE) ®100x ¢ 100 1 1 0.300
RELR
(E#EED) ¢ 100 DIP-GX m 15.635 15.635
100 SUS m 8.635 8.635
@ 100HPPE m 43.230 35.890 7.340
RELR
(T #ERO ¢ 100 DIP-GX m 15.635 15.635
100 SUS m 8.635 8.635
@ 100HPPE m 40.350 34.170 6.180




AR EHMERG) | ARG HMHQ) | AR EHMAR ) | A BT HERA)
¢ 100DIP-GX| $100SUS | ¢ 100HPPE | ¢ 100HPPE
I £ ) i |Bf| = L=15.6m L=8.6m L=35.9m L=7.3m B =
=304
B#% | BHREREAT ¢ 100 m 7.858 7.858
AN
SHHREREAT ¢ 100 m 7777 7.777
SEERE UERELY
YT 100 ] 6 7-1GEKE TatE)
GX#FEEST
(EE) ¢ 100 ] 5 5
GXMFEST
(BEE) ¢ 100 ] 7 5 2
G-LinkiZ& T ¢ 100 [m] 7 7
AN
SEREAT ¢ 100 m 8.635 8.635
it E#F T ¢ 100 ] 3 3 SHEMTE
EBMTFET ¢ 100 ] 3 3 SHEMRTFE
RUTFLUE
BT ¢ 100 m 40.350 34.170 6.180
RUTFLUE
Yl T ¢ 100 ] 16 UERELY
RUIFLUE | BEESCO)
HFET ¢ 100 &1z 4 3 1 EFV vk, EFF—X
RYIFLUE | BEEEO)
BHFET ¢ 100 &3 34 25 9 EFV4 b, EFF—XLLSH
RYIFLUE
ANZHIVIRFT ¢ 100 m] 2 1 1 PCTaA U DPH|
kS22
ANZHIVRFT ¢ 100 [m] 2 1 1 PCTaA > LDCH
=354
HYIHFRBET ¢ 100 = 3 2 1
AN
ERRAHRET 20 E-3 1 1 25U ERAMMET
IV HFET ¢ 75(1.5K) ] 1 1
770V WHEE R
T ¢ 75 [m] 1 1 wiEF— A
15 #%E
BERE ¢ 250 & 3 2 1
Lyvavhy-rE | 15 ALY
R yyARRE (M) H=100mm & 3 2 1
Lvyvavhy - 15 LETERE
FyyARRE (M) H=300mm & 3 2 1
Ly vavhy-ral 15 &R
R yyARRE(FH) H=40mm & 3 2 1
35 #E
BEHE ¢ 500 & 1 1
Ly vavhy—ral 35 LIpEE
Ry AR E (M) H=200mm & 1 1
Lvyvavhy - 35 TERE:
R yyARRE () H=200mm & 1 1
Ly vavhy—ral 35 &hR
Ry AR E(FH) H=40mm & 1 1
RYIFLYRY-7 £ES
BT ¢ 100 m 15.635 15.635
SHERE
EHRT-7 T ¢ 100 m 15.635 15.635
. S EREA 7 — AR
BEART-7 T @ 100 m 3.275 3.275 8.635-5.360
HPPE
EHRT-7 T ¢ 100 m 40.350 34.170 6.180
BEZRY-MT | W=1502f£#73A) | m 60.200 15.600 2.900 35.300 6.400 TIERSLY




d100mmBECKERBRITE YIEFRE

HPPE & 100mm RYE z9E ZuE ZE ZuE | A% HRE Il e
BES| & Rtk ~ti& (m) (m) ([
1 HPPE $100x5.0 B 2.77 0.78 0.62 4.170 0.830 3
2 HPPE $100x5.0 E 2.06 1.00 1.32 4.380 0.620 3
3 HPPE ®100x5.0 G 3.04 1.00 0.77 4810 0.190 3
4 HPPE $100x5.0 H 4.16 0.59 4.750 0.250 2
5 HPPE $100x5.0 M 1.76 1.00 042 P 050 L 0.50 4.180 0.820 5
&5t 22290/  2.710 16




d100mmBECKERBRITE YIEFRE

GXFESFE @ 100mm BUE ZUE ZyE zZyeE zZyE | A BE YIMT | G-Link e
B5 B F AR <TiE (m) (m) () (&P
GX-G
1 DIP-GX $100x4.0 1.28 1.28 2.72 1 1
GX-G
2 DIP-GX $100x4.0 2.85 2.85 1.15 1 1
GX-G G-GX
3 DIP-GX $100%x4.0 248 1.00 3.48 052 2 2
GX-G K-GX
4 DIP-GX 100 x4.0 1.40 1.00 2.40 1.60 2 1 |71&, #EKE GEKE) THER.
GX-G
5 DIP-GX $100x4.0 3.16 3.16 0.84 1 1
REEE
[CE:
6.830 m X 15.09 kg/m = 103.06 |kg
BELOz=g
3 & % 0.12 ke/ BT = 0.36 kg
5t 103.42 kg
&Et 13.170]  6.830 7 6




AHRELTIER ¢100 FERELY
ITIHS]| Of |Hf /I &t ®E
4-1 $100 | m 1.700 1.70
4-2 $100 | m 2.200 2.20
5 $100 | m 1.000 1.00
6 $100 | m 1.400 1.40
7-1 $100 | m 3.900 3.90
7-2 $100 | m 4.300 4.30
8 $100 | m 5.700 5.70
9 $100 | m 5.600 5.60
10 $100 | m 4,000 4.00
11-1 $100 | m 15.400 15.40
11-2 $100 | m 2.600 2.60
12 $100 | m 2.700 2.70
13-1 $100 | m 2.900 5.000 7.90
13-2 $100 | m 2.100 2.10
14 $100 | m 1.600 1.60
15 $100 | m 1.300 1.30







(2,20

10 11-1 11-2 12 13-1 13-2 14 15
AFZELTIHE 100 $100  H=090 | ¢100 H=0.70 | ¢100 H=070 [ #100 H=0.70 | ¢100 H=070 | #100 H=1.10 | ¢100 H=0.50 | ¢ 100  H=0.25
L= 4.00 L= 15.40 L= 2.60 L= 2.70 L= 7.90 L= 2.10 L= 1.60 L= 1.30
I 5 - B N E ==
[T
| & % AR LT T T .wm *w,u_ 5¢cm#ET m 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0
| £ SRR LT T T .W &Wu_ 5¢cmET m 0.00 | 1.000 15.40 | 1.000 2.60 | 1.000 2.70 | 1.000 7.90 | 1.000 2.10 | 1.000 1.60 | 1.000 1.30 33.60 63
SHERREE T .wmw Nm_w_o%&._u m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0
SH SR ERIE T o> m_osmmwanaﬁﬂ m2 0.00 | 0.390 6.01 0.00 | 0.390 1.05 | 0.600 474 | 0600 1.26 0.00 0.00 13.06 20
SH SR ERIE T o> m_osmmwanaﬁﬂ m2 0.00 0.00 | 0.390 1.01 0.00 0.00 0.00 0.00 0.00 1.01 1
| 4 AR ERiE T [Co t=10cmLL T m2 0.00 0.00 0.00 0.00 0.00 0.00 | 0.370 0.59 | 0.320 0.42 1.01 5
BHO.13m3
HEiEEIT | 5 m3 0.00 | 0.300 4.62 0.00 | 0510 1.38 | 0.400 316 | 0.640 1.34 0.00 0.00 10.50 20
I ADIEEIT |8 m3| 0.440 1.76 0.00 | 0.300 0.78 0.00 0.00 0.00 | 0.230 0.37 | 0.120 0.16 3.07 5
BHO.13m3
MR T |4+ m3 0.00 | 0.060 0.92 0.00 | 0.060 0.16 | 0.090 071 | 0.330 0.69 0.00 0.00 2.48 5
 ANIBET %4+ m3| 0270 1.08 0.00 | 0.060 0.16 0.00 0.00 0.00 | 0.040 0.06 0.00 1.30 1
BHO.13m3
HEERET [BE+ m3 0.00 | 0.150 2.31 0.00 | 0.370 1.00 | 0.180 142 | 0.180 0.38 0.00 0.00 5.11 10
ANIBRT |BEL m3| 0.150 0.60 0.00 | 0.150 0.39 0.00 0.00 0.00 | 0.150 0.24 | 0.080 0.10 1.33 3
RM-30
PRAZT t=12¢cm m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0
RM-30
PRAZT t=17¢cm m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0
RM-30
PRART t=22¢cm m2 0.00 | 0.390 6.01 | 0.390 101 | 0390 1.05 | 0.600 474 | 0600 1.26 0.00 0.00 14.07 21
RC-30
PRART t=10cm m2 0.00 | 0.390 6.01 | 0.390 1.01 | 0.390 1.05 | 0.600 474 | 0600 1.26 | 0370 0.59 | 0.320 0.42 15.08 26
RC-40
PRAZT m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0
BT m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0
EXE{EIAT m2 0.00 | 0.390 6.01 | 0.390 1.01 | 0.390 1.05 | 0.600 474 | 0.600 1.26 0.00 0.00 14.07 21
BEEIRT m2 0.00 0.00 0.00 0.00 0.00 0.00 | 0.370 059 | 0.320 0.42 1.01 5
72 AN IE T m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0
72 AN IE T m3 0.00 | 0.060 0.92 | 0.060 0.16 | 0.060 0.16 | 0.090 071 | 0.090 0.19 | 0.040 0.06 | 0.030 0.04 2.24 4
BtamET m3| 0.170 0.68 | 0240 370 | 0240 0.62 | 0.450 122 | 0310 245 | 0310 0.65 | 0.190 0.30 | 0.120 0.16 9.78 20
% & it K ARxH=2.0m
T8T T1E8 fim 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0
% = ] K ARH=2.5m
T8T T2F8 fim 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0
% & ] K ARxH=3.5m
8T FIRT2E8 fim 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0
av4)—b$T5% T118-8-25BB m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0
BPT m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0




2)

AEBRELTIHE 100 ¢ 100 : _IHO.NO ¢ 100 - NIHO.um ¢ 100 : H=0.75 ¢ 100 : H=0.90 ¢ 100 ; _IHO.NO ¢ 100 ; W_H_ .00 ¢ 100 - H=0.30 ¢ 100 : H=0.30
L= 1.70 L= 2.20 L= 1.00 L= 1.40 L= 3.90 L= 4.30 L= 5.70 L= 5.60
A B I8 EX| N §
2
|2 2 R LB T |As t=15cmE T m 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
%%ﬁn_ 5¢cm¥ET m 2.000 3.40 2.000 440 2.000 2.00 0.00 1.000 3.90 1.000 430 1.000 5.70 1.000 5.60 29.30
SRR EE T m*mﬂn_oogml_n m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
ERE e m*m_onamwﬂw_mnaﬁﬂ m2| 0.600 1.02 0.600 1.32 0.600 0.60 0.00 0.450 1.76 0.450 1.94 0.00 0.00 6.64
ERE e %Muﬁ”_n_onamwﬂw_mnaﬁﬂ m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
ERE e M/ou.w_n_ OcmELF m2 0.00 0.00 0.00 0.00 0.00 0.00 0.450 2.57 0.310 1.74 431
iR I T WHImw._w:‘_w m3| 0.400 0.68 0.430 0.95 0.430 0.43 0.610 0.85 0.350 1.37 0.480 2.06 0.00 0.00 6.34
| ADiEEIT [TF) m3 0.00 0.00 0.00 0.00 0.00 0.00 0.190 1.08 0.130 0.73 1.81
HEIER T M'_%m._n_”nwgw m3| 0.090 0.15 0.120 0.26 0.120 0.12 0.420 0.59 0.070 0.27 0.200 0.86 0.00 0.00 2.25
I ADIBRET |FE4+ m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
IR T .W_'.M.._H_W:\_w m3| 0.180 0.31 0.180 0.40 0.180 0.18 0.180 0.25 0.180 0.70 0.180 0.77 0.00 0.00 2.61
ANBRET |BE L+ m3 0.00 0.00 0.00 0.00 0.00 0.00 0.130 0.74 0.090 0.50 1.24
ERAET ._WH—A_MMM\_ m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
ERAET ._WH—A_WMM\_ m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
ERAET ._WH—MMMM\_ m2]| 0.600 1.02 0.600 1.32 0.600 0.60 0.00 0.450 1.76 0.450 1.94 0.00 0.00 6.64
ERAET ._Wnﬁwmww\_ m2]| 0.600 1.02 0.600 1.32 0.600 0.60 0.00 0.450 1.76 0.450 1.94 0.450 2.57 0.310 1.74 10.95
ERAET oo m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
AT m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
EXEEIRT m2]| 0.600 1.02 0.600 1.32 0.600 0.60 0.00 0.450 1.76 0.450 1.94 0.00 0.00 6.64
EREERT m2 0.00 0.00 0.00 0.00 0.00 0.00 0.450 2.57 0.310 1.74 431
TRiRANIE T m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
TR EEAN IR T m3| 0.090 0.15 0.090 0.20 0.090 0.09 0.00 0.070 0.27 0.070 0.30 0.050 0.29 0.030 0.17 1.47
ELTAET ) m3| 0310 0.53 0.310 0.68 0.310 0.31 0.190 0.27 0.280 1.09 0.280 1.20 0.190 1.08 0.130 0.73 5.89
T2 T HmmM_mmmIHN.o:‘_ fm 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
X5 fif] K HRH=2.5m
T2 T T28 fm 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
X 5 fif] K HRH=3.5m

T2 T T ET2E fm 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
1v4)-b$T7E% T118-8-25BB m3 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
2HT m2 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00




3o = (i 2) (p) NO.2

= ftsy N
& A (1.0m%9) Wi o
Wom W 2-1 2-2 2-3 2-4 25 2-6 2-7
E HE R [EE A EAs | [EE AR EAs | [EEAEAs | [EEAGEAs | [EEANEAs | EEAEAs | [EEAREAs
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. } A
R S T O 0.43 0.32 m2 Co t=10cm
@18 < Co t=10cmPd F
2004 sus | P80 00n sus o
HEH T T4, A 0.16 0.12 m3 WX h2
MR T AT, N - - m3 WXh3
MR T BRE+, A 0.08 0.08 m3 WX (D+t1+t2)-a
A T - - - m2
T RC=30 0.43 0.32 m2
t=10cm
e . Co
e c
BT IH T £=10cm 0.43 0. 32 m2
FEBLALER T Co, b 0.04 0.03 m3
BT 4, HAR 0.16 0.12 m3




3. M ERENE=FES



EISHEE
P200mmEKERETSE HEHEE
(TEHE)

: @ 200mmDIP ® 200mmSGP

®200mmDIP. L=448.8m ©200mmSGP. . L=8.1m

RBEEH Y. 1.3m (=)
BERR ISR
HRERETER() | BRENATEEQ | REERETEEQ) | BREHEAT@EE)
¢ 200DIP | ¢200DIP | ¢200SGP | ¢ 200DIP
I8 2 A B HE L=402.2m | L=18.2m L=8.1m L=28.4m &
L7k Ah=hIE @200 & 2 1 1
HEE
5% | BREREUNT @ 200 m] 71 68 4 5
e
B ERENT @200 [m] 2 2
BEER B E SHERE W
ALEFEAHT @200 m | 431.900 402.200 11.500 18.200
BEER B S FHHE AN
ALEFEAAT @200 m 16.900 6.700 10.200
BEER B S HE AN
ALEFERAAT @200 m 8.100 8.100
AHIENSH)

ANZAI#@FT @200 A 2 1




LIS HEE
P100mmEKERETISE HEHEE
(TEHE)

: @ 100mmDIP @ 100mmSGP

®100mmDIP. L=48.6m @ 100mmSGP 1 =8.3m

RBEEH THY. 0.9m (=)
BREIRIR : BIHRS BR
HRERETERE | BREHEATEREQ) | BERERET@EEE)
$100DIP | ¢ 100SGP | ¢ 100DIP
I8 & BT & B HE L=15.3m L=8.3m L=33.3m i
L7k AH=HILEE @100 @ 2 1 1
HEE
5% | BREREUNT @100 m] 9 3 6
e
B ERENT @ 100 [m] 2 2
BEER B E SHERE W
ALEFEAHT @ 100 m 31.900 9.600 22.300
BEER B S FHHE AN
ALEFEAAT @ 100 m 16.700 5.700 11.000
BEER B S HE NN
ALEFERAAT @ 100 m 8.300 8.300
HEUFBET @ 100 E- 2 2
‘AR VIRMET ¢ 100 H=1.1m #8 2 2

FHIE(NSH)
FINZANBFT 3100 a 2 1




BSERELTIER TERKLY
TITES O BT D E [

T1-1 ¢ 200 m 4.300 4.30
T1-2 ¢ 200 m 7.700 7.70
T2-1 ¢ 200 m | 56.900 | 169.900 [ 55.500 282.30
T2-2 ¢ 200 m | 28.700 28.70
T2-3 ¢ 200 m | 21.500 45.300 66.80
T3 ¢ 200 m 3.000 3.00
T4 ¢ 100 m 5.000 1.500 6.50
T5-1 ¢ 200 m 8.500 8.50
T5-1 ¢ 100 m 9.600 9.60
T5-2 ¢ 200 m 16.200 16.20
T5-2 ¢ 100 m 17.300 17.30
T5-3 ¢ 200 m 2.000 2.00
T6 ¢ 200 m 6.700 6.70
T6 ¢ 100 m 5.700 5.70
T7 ¢ 200 m 5.000 5.00
T7 ¢ 100 m 5.800 5.80
T8 ¢ 200 m | 12.200 12.20
T9 ¢ 100 m 1.400 1.40
T10 ¢ 200 m 5.200 5.20
T10 ¢ 100 m 5.200 5.20
Ti1 200A m 1.500 1.50
Ti1 100A m 1.600 1.60
T12 200A m 1.200 1.20
T12 100A m 1.300 1.30
ERE YU~k G5t 1 1




(2/4)

_ T5-1 T5-2 T5-2 T5-3 T6 T6 17 T7
BRERELIHE ¢ 100 H=0.60 ¢ 200 H=0.90 ¢ 100 H=0.90 ¢ 200 H=1.25 ¢ 200 H=0.30 ¢ 100 H=0.30 ¢ 200 H=0.30 ¢ 100 H=0.30
= 9.60 = 16.20 = 17.30 = 2.00 = 6.70 = 5.70 = 5.00 = 5.80
% B % EX53 N EF

B

SHIE IR MR T As t=15cm#ET m
B

SHIE AR MR T Co t=15cm¥ET m 1.000 9.60 1.000 16.20 1.000 17.30 1.000 2.00 1.000 6.70 1.000 5.70 1.000 5.00 1.000 5.80 68.30
B

SHIEIRERIE T As t=10cmEL T m2
B

SHIEIRERIE T Co t=10cm#*F#BZ15cmF | m2 1.150 11.04 1.150 18.63 1.150 19.90 1.150 2.30 51.87
AA

SHIEIRERIE T Co t=10cmLLF m2 0.630 4.22 0.520 2.96 0.490 2.45 0.310 1.80 11.43
BHO0.13m3

BRI T T8 m3 0.760 7.30 1.080 17.50 1.110 19.20 1.480 2.96 46.96

AHEEIT T8 m3 0.220 1.47 0.210 1.20 0.170 0.85 0.120 0.70 4.22
BHO0.13m3

HWHIERT RET m3 0.540 5.18 0.890 14.42 0.890 15.40 1.290 2.58 37.58

ADBRT FAEL m3 0.200 1.34 0.170 0.97 0.160 0.80 0.100 0.58 3.69
RM-30

PRAET t=12cm m2
RM-30

BEHET t=17cm m2
RM-30

BEHET t=22cm m2 1.150 11.04 1.150 18.63 1.150 19.90 1.150 2.30 51.87
RC-30

BEHET t=10cm m2 1.150 11.04 1.150 18.63 1.150 19.90 1.150 2.30 0.630 4.22 0.520 2.96 0.490 2.45 0.310 1.80 63.30
RC-40

BEHET t=15cm m2
RC-40

PRAET t=30cm m2
BETHEAs

BREEIAT t=3cm m2 1.150 11.04 1.150 18.63 1.150 19.90 1.150 2.30 51.87
Co

BREEIAT t=10cm m2 0.630 4.22 0.520 2.96 0.490 2.45 0.310 1.80 11.43
B

FRIRALIE T Asig m3
B

FARAIE T Cos¥ m3 0.170 1.63 0.170 2.75 0.170 2.94 0.170 0.34 0.060 0.40 0.050 0.29 0.050 0.25 0.030 0.17 8.77
B

s T T8 m3 0.220 2.11 0.190 3.08 0.220 3.81 0.190 0.38 0.020 0.13 0.040 0.23 0.010 0.05 0.020 0.12 9.91
B2 R HRH=20m

TBT XETIR Hm
B2 R HRH=35m

TBT XET 28 Hm

aVYY—hEELT m3




(1/4)

] T1-1 T1-2 T2-1 T2-2 T2-3 T3 T4 T5-1
BHRERELIIHE 200 H=1.45 @200 H=2.60 ¢ 200 H=1.20 @200 H=1.30 200 H=1.40 @200 H=0.60 ¢ 100 H=1.10 & 200 H=0.60
= 4.30 = 7.70 L= 282.30 = 28.70 = 66.80 = 3.00 = 6.50 = 8.50
% B B INE

H

SHERYIM T As t=15cmET m | 2000 8.60 2.000 15.40 2.000 564.60 2.000 57.40 2.000 133.60 779.60
Hem

SHERYIM T Co t=15cmET m 2.000 6.00 2.000 13.00 1.000 8.50 27.50
Hem

SHEMRIET As t=10cmBLF m2 | 0.900 3.87 0.900 6.93 0.750 211.73 0.900 25.83 0.900 60.12 308.48
Hem

SHEMRAIET Co t=10cm#%#8Z15cmELF | m2 0.750 2.25 0.650 4.23 1.150 9.78 16.26
AR

SHEEAREVIET Co t=10cmi T m2
BH0.13m3

MRS T E2 ) m3 | 1.420 6.11 2.450 18.87 0.990 279.48 1.280 36.74 1.370 91.52 0.460 1.38 0.690 4.49 0.730 6.21 444.80

ABDEHEIT T m3
BH0.13m3

HIERET 4T m3 | 1.100 473 2.130 16.40 0.800 225.84 1.050 30.14 1.140 76.15 0.350 1.05 0.570 3.71 0.540 4.59 362.61

ANBRET sHES m3
RM-30

BT t=12cm m2 | 0.900 3.87 0.900 6.93 10.80
RM-30

BT t=17cm m2 0.750 211.73 0.900 25.83 0.900 60.12 297.68
RM-30

BT t=22cm m2 0.750 2.25 0.650 4.23 1.150 9.78 16.26
RC-30

BT t=10cm m2 0.750 2.25 0.650 4.23 1.150 9.78 16.26
RC-40

BT t=15cm m2 0.750 211.73 0.900 25.83 0.900 60.12 297.68
RC-40

BT t=30cm m2 | 0.900 3.87 0.900 6.93 10.80
BABHEAs

BRE{EIET t=3cm m2 | 0.900 3.87 0.900 6.93 0.750 211.73 0.900 25.83 0.900 60.12 0.750 2.25 0.650 4.23 1.150 9.78 324.74
Co

BREEIAT t=10cm m2
Hem

PR IR T Ask m3 | 0.050 0.22 0.050 0.39 0.040 11.29 0.050 1.44 0.050 3.34 16.68
Hem

PR IR T Coik m3 0.110 0.33 0.100 0.65 0.170 1.45 2.43
Hem

Pt mmT E2 ) m3 | 0.320 1.38 0.320 2.46 0.190 53.64 0.230 6.60 0.230 15.36 0.110 0.33 0.120 0.78 0.190 1.62 82.17
B2 RIRH=2.0m

+tBT HRTIE #im | 1.000 4.30 1.000 28.70 1.000 66.80 99.80
BRI RIRH=3.5m

+tBT HRT 2R fm 1.000 7.70 7.70

oV YY—rEIEL T m3




(4/4)

ERE Db

BSRERELIHNE
N= 1
& Bt B N 5T i

=24

SHEEARUIMT T As t=15cm&E T m 780
=204

SHEEhRUIMT T Co t=15cm&ET m 100
=24

S HRAR T As t=10emBL T m2 308
=204

S HRAR T Co t=10cm%&#BZ15cmEAF | m2 68
AB

SREERRERIE T Co t=10cmBAF m2 14
BHO0.13m3

BRI T T8 m3 510

AHEEIT T8 m3 10
BHO0.13m3

HWHIERT &L m3 420

ANEBRT &L m3 5
RM-30

BRAET t=12cm m2 11
RM-30

BRAET t=17cm m2 298
RM-30

BRAET t=22cm m2 68
RC-30

BRAET t=10cm m2 82
RC-40

BRAET t=15cm m2 298
RC-40

BRAET t=30cm m2 11
BETMEAs

BREEIRT t=3cm m2 377
Co

BREEIRT t=10cm m2 14
R

FEYRANGE T Asik m3 17
=24

FEYRANGE T Coik m3 | 0.350 0.35 0.35 12
R

s T T8 m3 90
B EBHXIRH=20m

IBT XRI 1B mm 112.0
B EBHRIRH=3.5m

T FERT fim 77

2V YY—hEIEL T m3 0.350 0.35 0.35 0.4




(3/4)

T8 T9 T10 T10 T11 T T12 T12
BHRERELIIHE 200 H=1.30 ¢ 100 H=0.45 ¢ 200 H=0.90 @100 H=0.90 200A H=0.50 100A H=0.50 200A H=0.25 100A H=0.25
= 12.20 = 1.40 = 5.20 = 5.20 = 1.50 = 1.60 = 1.20 = 1.30
& B % EX53 I

H

SHAERRYIBT T As t=15cmZET m
Hem

SHERRYIM T Co t=15cmET m 1.000 1.50 1.000 1.60 1.000 1.20 1.000 1.30 5.60
Hem

SR REE T As t=10cmLL T m2
Hem

SHEERREE T Co t=10cm%#BZ15cmLlF | m2
AR

SHEREIET Co t=10cmiAF m2 0.480 0.72 0.370 0.59 0.430 0.52 0.320 0.42 2.25
BH0.13m3

MRS T T8 m3 | 1.330 16.23 0.360 0.50 0.670 3.48 0.570 2.96 23.17

ANEHIT T8 m3 0.260 0.39 0.220 0.35 0.120 0.14 0.110 0.14 1.02
BH0.13m3

HIERET 4T m3 | 1.370 16.71 0.370 0.52 0.710 3.69 0.580 3.02 23.94

ANBRET AL m3 0.250 0.38 0.190 0.30 0.120 0.14 0.090 0.12 0.94
RM-30

BRAET t=12cm m2
RM-30

BT t=17cm m2
RM-30

BRAET t=22cm m2
RC-30

BT t=10cm m2 0.480 0.72 0.370 0.59 0.430 0.52 0.320 0.42 2.25
RC-40

BET t=15cm m2
RC-40

BRAET t=30cm m2
BABHEAs

BEEIET t=3cm m2
Co

BRE{EIET t=10cm m2 0.480 0.72 0.370 0.59 0.430 0.52 0.320 0.42 2.25
Hem

FEYRANGE T Asp% m3
Hem

TR AR T Coik m3 0.050 0.08 0.040 0.06 0.040 0.05 0.030 0.04 0.23
Hem

Pt mmT T8 m3 | (0.040) (0.49) | (0.010) (0.01) | (0.040) 0.21) | (0.010) (0.05) | 0.010 0.02 0.030 0.05 0.020 0.03 (0.66)
B2 RIRH=2.0m

+tBT HRTIE #im | 1.000 12.20 12.20
BRI RIRH=3.5m

tBT ZRT2E fim

avoY—RERIELT m3




t TR R E (Wi 12 (BRI NO. 2

BXCH
=u s - N
BE 3% Bd & & (1.om4 ) i Wow
Wom W T2-1 T2-2 T2-3
T PR [EE AR EAs | [EE A EAs | [EE A EAs
R 0% DIP$ 200 | DIP$200 | DIP ¢ 200
EATHEAs t=3om H 1.20 1.30 1.40 m e
AALEHEs t=lon
L / \hﬁ&ﬁ&;wﬁﬂ.ﬁw D 0.22 0.22 0.22 m M
TlEREEE RC-40 t=15cm
/ h1 1.42 1.52 1.62 m EHITE
< / \ 3 w 0.75 0. 90 0.90 m HE e
| (=]
_ = h2 1.37 1.47 1.57 m AR 11 %
| / 2 .
_ - h3 1.07 1.17 1.27 m HRTR
_ a 0.04 0. 04 0.04 m2 T R
- _
- m% _ = tl - - - m ERAEERE E L
£
_ S
| RELT o t2 - - - m | EREERE T
!
_ P Lt T« o P 2. 00 2.00 m As t=5cm
1 yl As t=15cmE T
v Ak _
\, _ / SRR T |, oo g 078 0. 90 0.90 m2 As t=5cm
e R
— T BHO. 13m3 0.99 1.28 1.37 m3 WX h2-a
200 DIPHZ - Rt
HER T B0, 1303 0.80 1.05 1.14 m3 Wxh3
- RET _ _ _
+IHS [+®UH W | m | h | h3 — O Ln e
il BT dxu,\_%ooa 0.75 0. 90 0.90 m2
T2-1 | 1200 | 750 | 1420 | 1370 | 1070 40
KA T
12-2 | 1300 | 900 | 1520 | 1470 | 1170 ki miwo\ar 0-7 0-90 0-90 m2
oo | BHAEBRLE As
T2-3 1400 | 900 | 1620 | 1570 | 1270 H T8 1A T lwa S 0.75 0. 90 0.90 m2
FRBALEE T As, iR 0.04 0. 05 0.05 m3
FEMELT | LW, e 0.19 0.23 0.23 m3
- [mEmspn=2. 0
R SR 1.00 1.00 i m




3o o (i T1) (BERCH ) NO. 1

BXCH
=L s = - N
BE &% W& & (1.0m%4 ) Wi =
T Wi i m e
T ) [ HiEAs | [EE HEAs
GO, 0% DIP ¢ 200 | DIP ¢ 200
H 1.45 2. 60 m (o)
D 0.22 0. 22 m BoHME
BEBE Rhs 1=3on h1 1.67 2.82 m HIIIRES
900 Z RI-30 t=12em
TFE% RC-40 t=30cm w 0.90 0. 90 m e
BN #HIB 5
\ = h2 1.62 2.77 m 2 €S
4 .- 7 z =
“ \ e h3 1.22 2.37 m HRTR
i [+]
_ 2 a 0.04 0. 04 m2 T R
_ t1 - - m EOREME % b
|
= iR i 2 - - m IR BT
« = _ =
| mEt -
" £
_ e |, P2 00 2.00 m As t=5cm
,_f BRI T |, wm@s&ﬁ 0.90 0. 90 m2 As t=5em
i it +ib -
+ | 3= TR B0 193 1.42 2.45 m3 Wxh2-a
BT wwww%w 1.10 2.13 m3 Wxh3
G200 DIP#ZE - RET B B
HRL BHO. 13m3 m3
T mﬁ% 0.90 0. 90 m2
TIES [H@WYH h2 h3 ﬂo Moa
Ti-1 1450 | 1670 | 1620 | 1220 PR T £=30cm 0.90 0. 90 m2
| T1-2 | 2600 | 2820 | 2770 | 2370 PR A T ﬁﬁ@%@,m 0.90 0.90 m2
FEBLALER T As, HEtk 0.05 0. 05 m3
AT | W, B 0.32 0.32 m3
g |[MEREREELO ) 00 im
g |EEERGES G 1.00 fim




= /! e
B (i 1) (BER 4 5) NO. 4
BE B OECOE OB (1.0m¥% v) i Wow
BiomE X i i z
T PR & Co
GO, 0% DIP ¢ 100
H 1.10 m (w4
D 0.12 m BoHME
650 mmﬂﬂmmw_pm t=3cm h1 1.29 m R
L [ERfE RM-30 t=2Z2cm W 065 I
5% 118 \ TR RC-30 t=10cm : " .
_ / / N h2 107 m Rk
{ s 5]
m Co 5 = h3 0.87 m MR
| e o~
| i o a 0.01 m2 B
] ; S
_ = t1 - m BRI L
& 2 B _ S . - m | R BT
= 8 1 =
- | &L =] e
] Al T ) T =
| © EE RO T Co ﬂupmos%\ﬂ 2.00 m Co t=15cm
| s | B Co oen| g 6 m2 Co t=15cm
~+Ty T w:oww,a 0.69 m3 WX h2-a
__ W T wwww%w 0.57 m3 WX h3
U RE+ _
HRL BHO. 13m3 m3
T 0 0.65 m2
100 DIP#: e
B T S 0.65 m2
FR IR T Eﬁ@%ﬁ% 0.65 2
FRBRALEL T Co, F¥# 0.10 m3
FE A ALE T +-1b, Bk 0.12 m3




L TR B E e B

8=
PE B OECOE MR (1.0m¥% v) i Wow
BiomE X i i 1
T PR iiECo
GO, 0% DIP ¢ 200
H 0.60 m (w4
D 0.22 m BoHME
h1 0.82 m EHITE
W 0.75 m el
750 BETHEA t=Icm
L Eig8s RM-30 t=22cm h2 0.67 m FERAR 1%
Wi I8 TREREAE RC-30 t=10cm h3 0.47 m HEETE
Lo
j i A = a 0.04 m2 T R
=) T /
= & | / 9 1 - m | R E -
- o~
|
=1 i 7 = t2 - m IR BT
g | ® Wik | = g
o 5 o
2 2 T e
= | gt o | R =
+ 5 s | P | 2,00 m Co t=15cm
A _ b .| B, Co t=10cm . _
_ e T | TR S 0,75 m2 Co t=15cm
| o
T e 0.46 ms3 Wxh2-a
MR T wwwm%w 0.35 m3 WX h3
U RE+ _
200 DIPHIE BRT BHO. 13m3 m3
B T e 0.75 m2
B T e 0.75 m2
IR T Eﬁ@%ﬁ% 0.75 m2
FRBRALEL T Co, F¥# 0.11 m3
FE A ALE T +-1b, Bk 0.11 m3




B (i T6) (BER 4 5) NO. 6
BE 3% B & M & (1.0m4 1Y) i Wow
T i 1 16
TE KRR 7K Co K& Co
O 0 R DIP ¢ 200 | DIP¢ 100
H 0. 30 0. 30 m [rExi )
D 0.22 0.12 m MR
h1 0.52 0. 52 m LIS
w 0.63 0.52 m i
1150 h2 0.42 0.42 m YR
630 . 520 avsY—k t=10cm s 0 32 030 N -,
N 18 (RC-30_t=10cm)
B _ 1218 \| a 0.04 0.01 m2 RS
g = M - g tl - 0.10 m R L
o |8 A _ ? - t2 - 0.10 mo | EREERE T
A8 | Th |- —=g"
il s 8 USSR R ¢ 77 B
i f sk | Set o 100 1.00 m Co t=10cm
\; SRR T | 0| 0.63 0.52 m2 Co t=10cm
$200 DIPE 100 DIP#E AT ER AN 0.22 0. 21 m3 WX h2-a
MR T FAEL, N 0.20 0.17 m3 WX h3
PR T BB+, AN - - m3
SRR T - - - m2
BT dmm%%: 0.63 0. 52 m2
1T 74 T ﬁmMos 0.63 0.52 m2
RO T Co, H 0.06 0. 05 m3
T BT | LW, Hk 0.02 0. 04 m3




3o o (i T5) (BERCH fi5) NO.5

150

h2

AXE
=u s - N
BE 3% B & W% (1.0m%») Wi =
W@ W T5-1 T5-1 T5-2 T5-2 T5-3
T PR iiECo iiECo iiECo i Co i Co
O 0 R DIP 200 | DIP$100 | DIP$200 | DIP$ 100 | DIP ¢ 200
H 0. 60 0. 60 0.90 0. 90 1.25 m [eExi )
1150 D 0.22 0.12 0.22 0.12 0.22 m woe
630 5 520 h1 0.82 0. 82 1.12 1.12 1.47 m EElRZS
LAESE RM-30 t=22cm w 1.15 1.15 1.15 1.15 115 m ) i
\ [ FI@EsE RC-30 t=10cm
ey ) h2 0.67 0. 67 0.97 0.97 1.32 m R 1 2
Co i e 9 h3 0.47 0. 47 0.77 0. 77 112 m R
1 o~
_ 7 g a 0.04 0.01 0.04 0.01 0.04 m2 T A
H = I
i _ FE+ - tl - - - - - m R E L
x\.@_ﬁ./ _ |,n\v| = t2 - 0.10 - 0.10 - m EOREME ET
y _\ul _ gl
et -
WSROI | e o 100 1.00 1.00 1. 00 1. 00 m Co t=15cm
S 1 . | B&HE, Co t=10cm
Al 4 =
200 DIPHE 6100 DIPHE AERRBURE T | 2 1o 1.15 1.15 1.15 115 1. 15 m2 Co t=15cm
[ +-# _
AT BHO. 13m3 0.73 0.76 1.08 111 1.48 m3 WX h2-a
MR T. ww_wﬁww 0.54 0. 54 0.89 0.89 1.29 m3 Wxh3
TIES [+#YH|  hi h2 h3 mmm
T - - - - - m3
151 600 820 | 670 470 BHO. 13m3
15-2 900 | 1120 | 970 | 770 BT M\_m\mmooa 1.15 1.15 1.15 1.15 1.15 m2
T5-3 | 1260 | 1470 | 1320 | 1120 BT S 115 115 115 115 115 m2
=10Ucm
g T | TEEREA [ g 1.15 1.15 1.15 1.15 m2
t=3cm
FRORALEE T Co, Bk 0.17 0.17 0.17 0.17 0.17 m3
BT | R, K 0.19 0.22 0.19 0. 22 0.19 m3




LA — EB A FE) NO. 8
BE BB i & (1. 0m4 1) Wi v
Wro o X [} 8
TE KRR S
H R PR DIP ¢ 200
. Lo m Y
D 0.22 o o
900 h1 1.52 m BHElRZS
d 0% m b
T R h2 1.52 m PR AT T
R #EI8 > - " —
: o0 m2 IR
- _ mo | EREERE L
¢ - mo | EREERE ET
S i st AR T - - ~
S T = S ST T - B —
) ] i L B0 19n5 133 m3 WxhZ-a
R B0, 1305 137 m3 WXh3
ART | gt |- s
! . Bt T - - e
RIW BT - B -
) PR IH L - - ",
FRORALEE T - - 3
DIP ¢ 2008 % AR | L, B -0. 04 3
LgT |EEEREE ) -




= b= e
B (i T0) (BE 4 5) No. T
BE 3% Bd & & (1.om%4Y) i Wow
T Wi i i m
T PR 7Kk #%Co 7K #Co
GO, 0% DIP ¢ 200 | DIP ¢ 100
H 0. 30 0. 30 m (o)
D 0.22 0. 12 m BoHME
h1 0.52 0. 52 m EHITE
w 0. 49 0.31 m i1
800 h2 0.42 0. 42 m NE HERES
O T T
490 310 a2 ')—F t=10cm h3 0,32 0.3 o -
. / B%H& (RC-30 t=10cm)
}luwi_lmm._.ma / a 0.04 0.01 m2 el
74
X o t1 - 0. 10 m EIREIRE L
= e _ 77 b=3|
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Uxs
BEE 200A X 2000 & 12 8 4 2.000| = | 24.000
Uxs
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Uxs
EE 200A x 500 x 10 6 4 0.500 5.000
Uxs
BEE 200A X 300 x 9 5 4 0.300 2.700
Uxs
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Uxs
IR 200A X 90° & 24 12 12 0712 17.088
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Uxs
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SXxS
LYa—H— 200A X 100A & 1 1 0.374 0.374
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TILFTaAk 100A & 2 1 1 0.119 0.238
uxu
EREE 200A & 1 1 0.066 0.066
uxu
EREE 100A & 1 1 0.016 0.016
ERF 80A(7.5K) H 4 4 0.263 1.052
SHEkE A
TR H# ¢ 100 & 3 2 1 0.360 1.080
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BHEELE=LE ¢ 150 m 5.300 5.300
EEER
(tuszaEd) SUS200A m 0.296 0.296
SUS100A m 81.272 78.348 2924
BRELER
[Cn)Fiwa 9] SUS200A m 0.296 0.296
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Rk R HEE (2)

{RERBEKE-1 | REREKE-2
IiE B gkt Hi) # 8 L=76.6m L=2.6m B =
7% | REFEERMT 200A M m 0.296 0.296
RERFRERAT 100A Bt m 81.272 78.348 2.924
REEMFT 200A [m] 2 2
REEMFT 100A [m] 75 69 6
RE&#FT 80A ] 4 4
UFMUMEF T 200A [m] 1 1
UFMUMEF T 100A [m] 2 1 1
RER/NILTHRBE
T 100A = 2 1 1
REAZERFERE
T 80A ® 4 4
REEBET = 1
UK SR ET ¢ 100 ilzil 3 2 1
EZLERMAT $ 150, AH m 5.300 5.300
HYIFLYAY-7 £ES THKEYIF345LT
Bt T ¢ 100 m 3.600 EE&LY
H%E
EBRRT-7T L ¢ 100 m 3.600
BERAZRY—PT | W=150Q2f&#73A) | m 3.600




REELIER TERKLY
FTITES O BT /D5t wE |
K1 200A m 6.100 6.10
K2 200A m | 132.000 81.700 | 31.200 244.90
K3 200A m 2.800 1.000 3.80
K4 100A m 1.200 1.900 3.10
K5 200A m 0.700 0.300 1.00
THT K5 I 1 200A m 1.500 1.50
THT K5 I 1 100A m 1.700 1.70
THrK S 52 ¢ 200 m 0.800 0.80
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j K1 K2 K3 K4 K5 S BT 7K 93 5% 1 T BT K 53 U5k 1 Bk 535 2
REELIHE 200A H=0.45 200A H=0.35 200A H=0.35 100A H=0.35 200A H=1.00 ¢ 200 H=1.45 100A H=1.45 ¢ 200 H=1.25
= 6.10 = 24490 = 3.80 = 3.10 = 1.00 L= 1.50 L= 1.70 L= 0.80
AR i BB EX6 N E & &t

A

SHBEAR 1M T As t=15cm&E T m 2.000 12.20 2.000 489.80 2.000 3.00 2.000 3.40 508.40 510
A

SHBEAR 1M T Co t=15cmET m 2.000 7.60 2.000 6.20 2.000 2.00 2.000 1.60 17.40 20
A

SHBEhR AR T As t=10cmEA T m2 0.450 2.75 0.450 110.21 1.500 2.25 1.100 1.87 117.08 117
A

SHBEhR AR T Co t=10cm%Z#BZ 15cmLLF | m2 0.450 1.71 0.350 1.09 0.600 0.60 1.500 1.20 4.60 5
BHO0.13m3

HRIEEI T T m3 0.280 1.71 0.230 56.33 0.190 0.72 0.110 0.34 0.640 0.64 2.990 4.49 2.100 3.57 2.540 2.03 69.83 70
BHO0.13m3

BIERT &L m3 0.270 0.27 1.200 1.80 0.880 1.50 1.050 0.84 4.41 4
BHO0.13m3

BIERT BEL m3 0.060 037 0.060 14.69 0.060 0.23 0.030 0.09 0.210 0.21 1.190 1.79 0.740 1.26 1.190 0.95 19.59 20
RM-30

BRAET t=12cm m2 0.450 2.75 1.500 2.25 5.00 5
RM-30

BRAET t=17cm m2 0.450 110.21 1.100 1.87 112.08 112
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BRAET t=22cm m2 0.450 1.71 0.350 1.09 0.600 0.60 1.500 1.20 4.60 5
RC-30

BRAET t=10cm m2 0.450 1.71 0.350 1.09 0.600 0.60 1.500 1.20 4.60 5
RC-40
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A
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BEmET T m3 0.280 1.71 0.230 56.33 0.190 0.72 0.110 0.34 0.370 0.37 1.790 2.69 1.220 2.07 1.490 1.19 65.42 70
E R XIRH=2.0m
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E R XIRH=25m
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BHT m2
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KR 7 H AR} = 14& X 500 M = 500 Y &t = 900 [
SR R = 59,827
[ZRMEHREEETE]
TARERUERER = 2 A X 19.3 kg/A = 308.8 kg
KIEVFR—NEREE = 4 K X 7.5 kg/AR = 480 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 801.1 kg = 0.801 t
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(=]

1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
900 2.0mLF 0.8 0.8 1 680
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
JIE L LA AR SR A S
2 4 %[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 86 1
TAIER AR = 2 A X 500 [ = 1,000 Y Gt = 1,086 M
IKEDR—NER = 103 X 4 A X 0.6 A) = 412 H
REFR—NEARE = 4 A X 500 [ = 2,000 M Gt = 2,412 H
KER TR = 154 X (1%& X0.6H) = 154 [
KR 7 H AR} = 14& X 500 M = 500 1 Gt = 654 [
SR R = 4,152 M
[ZRMEHREEETE]
TAIEREREE = 2K X 19.3 kg/A = 38.6 kg
KEFR—NEMRERE = 47K X 7.5 kg/AK = 30 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 80.9 kg = 0.081 t
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(=]

1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
900 2.0mLF 3.1 3.1 1 680
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
JIE L LA AR SR A S
4 8 %[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 172 M
TAIER AR = 2 A X 500 [ = 2,000 [ Gt = 2,172 H
IKEDR—NER = 103 X 4 A X 0.6 A) = 824 [
REFR—NEARE = 4 A X 500 [ = 4,000 [ Gt = 4,824 H
KER TR = 154 X (1%& X0.6H) = 154 [
KR 7 H AR} = 14& X 500 M = 500 1 Gt = 654 [
SR R = 7,650 H
[ZRMEHREEETE]
TAIEREREE = 2K X 19.3 kg/A = 77.2 kg
KEFR—NEMRERE = 47K X 7.5 kg/AK = 60 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 149.5 kg = 0.15 t
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(=]

1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
900 2.0mLF 1.0 1.0 1 680
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
JIE L LA AR SR A S
2 4 %[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 51 [
TAIER AR = 2 A X 500 [ = 1,000 Y Gt = 1,051 M
IKEDR—NER = 103 X 4 A X 0.6 A) = 247 [
REFR—NEARE = 4 A X 500 [ = 2,000 M Gt = 2,247 H
KER TR = 154 X (1%& X0.6H) = 92 M
KR 7 H AR} = 14& X 500 M = 500 1 Gt = 592 [
SR R = 3,890 H
[ZRMEHREEETE]
TAIEREREE = 2K X 19.3 kg/A = 38.6 kg
KEFR—NEMRERE = 47K X 7.5 kg/AK = 30 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 80.9 kg = 0.081 t
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1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
1500 3.5mLL 1.5 1.5 2 1280
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
JIE L LA AR SR A S
4 16 %[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 275 [
TAIER AR = 2 A X 500 [ = 2,000 [ Gt = 2,275 H
IKEDR—NER = 103 X 4 A X 0.6 A) = 2,636
REFR—NEARE = 4 A X 500 [ = 8,000 [ Gt = 10,636 M
KER TR = 154 X (1%& X0.6H) = 246 M
KR 7 H AR} = 14& X 500 M = 500 1 Gt = 746 [
SR R = 13,657 M
[ZRMEHREEETE]
TAIEREREE = 2K X 19.3 kg/A = 77.2 kg
KIEVFR—NEREE = 4 K X 7.5 kg/AR = 120 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 209.5 kg = 0.21 t
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1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
1100 2.0mLLF 1.7 1.7 2 880
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
JIE L LA AR SR A S
2 4 %[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 137 |
TAIER AR = 2 A X 500 [ = 1,000 Y Gt = 1,137 M
IKEDR—NER = 103 X 4 A X 0.6 A) = 659 [
REFR—NEARE = 4 A X 500 [ = 2,000 M Gt = 2,659 H
KER TR = 154 X (1%& X0.6H) = 246 M
KR 7 H AR} = 14& X 500 M = 500 1 Gt = 746 [
SR R = 4,542 H
[ZRMEHREEETE]
TAIEREREE = 2K X 19.3 kg/A = 38.6 kg
KEFR—NEMRERE = 47K X 7.5 kg/AK = 30 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 80.9 kg = 0.081 t
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1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
1500 2.0mLLF 1.8 1.8 2 1280
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
JIE L LA AR SR A S
2 4 %[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 137 |
TAIER AR = 2 A X 500 [ = 1,000 Y Gt = 1,137 M
IKEDR—NER = 103 X 4 A X 0.6 A) = 659 [
REFR—NEARE = 4 A X 500 [ = 2,000 M Gt = 2,659 H
KER TR = 154 X (1%& X0.6H) = 246 M
KR 7 H AR} = 14& X 500 M = 500 1 Gt = 746 [
SR R = 4,542 H
[ZRMEHREEETE]
TAIEREREE = 2K X 19.3 kg/A = 38.6 kg
KEFR—NEMRERE = 47K X 7.5 kg/AK = 30 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 80.9 kg = 0.081 t
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1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
1500 2.0mLLF 1.8 1.8 2 1280
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
JIE L LA AR SR A S
2 4 %[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 172 M
TAIER AR = 2 A X 500 [ = 1,000 Y Gt = 1,172 M
IKEDR—NER = 103 X 4 A X 0.6 A) = 824 [
REFR—NEARE = 4 A X 500 [ = 2,000 M Gt = 2,824 H
KER TR = 154 X (1%& X0.6H) = 308 M
KR 7 H AR} = 14& X 500 M = 500 1 Gt = 808 [
SR R = 4,804 H
[ZRMEHREEETE]
TAIEREREE = 2K X 19.3 kg/A = 38.6 kg
KEFR—NEMRERE = 47K X 7.5 kg/AK = 30 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 80.9 kg = 0.081 t
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1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
1500 2.0mLLF 2.0 2.0 2 1280
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
JIE L LA AR SR A S
2 4 %[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 137 |
TAIER AR = 2 A X 500 [ = 1,000 Y Gt = 1,137 M
IKEDR—NER = 103 X 4 A X 0.6 A) = 659 [
REFR—NEARE = 4 A X 500 [ = 2,000 M Gt = 2,659 H
KER TR = 154 X (1%& X0.6H) = 246 M
KR 7 H AR} = 14& X 500 M = 500 1 Gt = 746 [
SR R = 4,542 H
[ZRMEHREEETE]
TAIEREREE = 2K X 19.3 kg/A = 38.6 kg
KEFR—NEMRERE = 47K X 7.5 kg/AK = 30 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 80.9 kg = 0.081 t
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1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
1500 2.0mLLF 1.5 1.5 2 1280
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
JIE L LA AR SR A S
2 4 %[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 137 |
TAIER AR = 2 A X 500 [ = 1,000 Y Gt = 1,137 M
IKEDR—NER = 103 X 4 A X 0.6 A) = 659 [
REFR—NEARE = 4 A X 500 [ = 2,000 M Gt = 2,659 H
KER TR = 154 X (1%& X0.6H) = 246 M
KR 7 H AR} = 14& X 500 M = 500 1 Gt = 746 [
SR R = 4,542 H
[ZRMEHREEETE]
TAIEREREE = 2K X 19.3 kg/A = 38.6 kg
KEFR—NEMRERE = 47K X 7.5 kg/AK = 30 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 80.9 kg = 0.081 t
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1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
1500 2.0mLLF 1.5 1.5 2 1280
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
JIE L LA AR SR A S
2 4 %[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 137 |
TAIER AR = 2 A X 500 [ = 1,000 Y Gt = 1,137 M
IKEDR—NER = 103 X 4 A X 0.6 A) = 659 [
REFR—NEARE = 4 A X 500 [ = 2,000 M Gt = 2,659 H
KER TR = 154 X (1%& X0.6H) = 246 M
KR 7 H AR} = 14& X 500 M = 500 1 Gt = 746 [
SR R = 4,542 H
[ZRMEHREEETE]
TAIEREREE = 2K X 19.3 kg/A = 38.6 kg
KEFR—NEMRERE = 47K X 7.5 kg/AK = 30 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 80.9 kg = 0.081 t
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[EE =]
1. 7RG L « K E R — b &R R

BRER=1HIARYVERX (17 17y 7 B0OSRAF XA BE) + (17 7y 40O SRAE X ARH) X F
2. KIER T OEREHHE

SEER = H1E4VO &R X4 B0 + (EEXEERED
[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
900 2.0mLL T 4.3 4.3 1 680
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900 1
JIE L LA AR SR A S
6 12 %[
[(ZRMEHETE]
TG UER = 431 X 24 X 0.6 H) = 232
TAIER AR = 2 A X 500 [ = 3,000 M Gt = 3,232 H
IKEDR—NER = 103 X 4 A X 0.6 A) = 1,112 [
KIEVR—REAL = 4 A X 500 [ = 6,000 M Gt = 7,112 H
KER TR = 154 X (1%& X0.6H) = 138 [
KR 7 H AR} = 14& X 500 M = 500 Y &t = 638 [
SR R = 10,982 M
[ZRMEHREEETE]
TARERUERER = 2 A X 19.3 kg/A = 115.8 kg
KEFR—NEMRERE = 47K X 7.5 kg/AK = 90 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 218.1 kg = 0.218 t
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[EE =]
1. 7RG L « K E R — b &R R

BRER=1HIARYVERX (17 17y 7 B0OSRAF XA BE) + (17 7y 40O SRAE X ARH) X F
2. KIER T OEREHHE

SEER = H1E4VO &R X4 B0 + (EEXEERED
[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
900 3.5mLL T 7.7 7.7 3 680
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900 2
JIE L LA AR SR A S
16 64 a[
[(ZRMEHETE]
TG UER = 431 X 24 X 0.6 H) = 2,064
TAIER AR = 2 A X 500 [ = 8,000 M Gt = 10,064 M
IKEDR—NER = 103 X 4 A X 0.6 A) = 19,776 [
REFR—NEARE = 4 A X 500 [ = 32,000 M Gt = 51,776 [
KER TR = 154 X (1%& X0.6H) = 462 M
KR 7 H AR} = 14& X 500 M = 500 Y &t = 962 [
SR R = 62,802
[ZRMEHREEETE]
TARERUERER = 2 A X 19.3 kg/A = 308.8 kg
KIEVFR—NEREE = 4 K X 7.5 kg/AR = 480 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 801.1 kg = 0.801 t
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1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
900 2.0mLF 28.7 28.7 6 680
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
e UM AR SR A S
30 60 a[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 7,353
TAIER AR = 2 A X 500 [ = 15,000 4 iy = 22,353 [
JKJEY R —NEEE = 103 X 4 A X 0.6 A) = 35,226
REFR—NEARE = 4 A X 500 [ = 30,000 M iy = 65,226 [
KER TR = 154 X (1%& X0.6H) = 877 M
KR 7 HA ) = 14 X500 = 500 Y Gt = 1,377 M
SR R = 88,956 [
[ZRMEHREEETE]
TARERUERER = 2 A X 19.3 kg/ AR = 579 kg
KIEVFR—NEREE = 4 K X 7.5 kg/AR = 450 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 1041.3 kg = 1.041 ¢
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1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
900 2.0mLF 66.8 22.3 14 680
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
JIE L LA AR SR A S
24 48 %[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 14,448 [
TAIER AR = 2 A X 500 [ = 12,000 [ Gt = 26,448
IKEDR—NER = 103 X 4 A X 0.6 A) = 69,216
REFR—NEARE = 4 A X 500 [ = 24,000 M Gt = 93,216 [
KER TR = 154 X (1%& X0.6H) = 2,156 [
KR 7 HA ) = 14 X500 = 500 [ Gt = 2,656 H
SR R = 122,320 [
[ZRMEHREEETE]
TARERUERER = 2 A X 19.3 kg/A = 463.2 kg
KIEVFR—NEREE = 4 K X 7.5 kg/AR = 360 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 835.5 kg = 0.836 t
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1. 7ABER L - K EXIR—bOEEE R
EERER =1 1ARYVER X (17 2y 7 YDA XA A H0) + (17 0y 7 B0 DR X A% X 5
2. KIER 7 DGR HE
SERER =014 &R X H A ) + (B XFEARED

[FETiE]
7GR LR
i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARIER])
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
900 2.0mLL T 12.2 12.2 3 680
[TBHZEMDEE]
EERUMOESm)| &7 #%EE) | XM OESm) | #iEBE(E)
2000 1 590~900
JIE L LA AR SR A S
14 28 %[
[(ZRMEHETE]
TGRS L E R = 43 X (24K X 0.6 H) = 1,565 M
TAIER AR = 2 A X 500 [ = 7,000 M Gt = 8,565 M
IKEDR—NER = 103 X 4 A X 0.6 A) = 7,498 M
REFR—NEARE = 4 A X 500 [ = 14,000 [ Gt = 21,498 [
KER TR = 154 X (1%& X0.6H) = 400 M
KR 7 H AR} = 14& X 500 M = 500 Y &t = 900 [
SR R = 30,963
[ZRMEHREEETE]
TARERUERER = 2 A X 19.3 kg/A = 270.2 kg
KIEVFR—NEREE = 4 K X 7.5 kg/AR = 210 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg
SR S F A = 492.5 kg = 0.493 't
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1. 7RG L « K E R — b &R R
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2. KIERZOEREHREK
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i (mm) 151 & (mm) F&(um)
110 130 2000~4000
[EARI1ER]
FEEE@m) | EEEm) | e TEEMm) | 17ey/Em) | #H B | 2R
900 2.0mLLF 22.3 22.3 14 680
[TBHZREMDEE]
EERUMOESm)| &7 H&EE) | XM OES@m) | #%iEBE(E)
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S U A K SRS
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[(ZRMEHETE]
TGS L E R = 431 X (24 A X 14 H) = 14,448 [
TAIER AR = 24 A& X 500 [ = 12,000 [ &t = 26,448
IKEDR—NER = 103 X 48 A X 14 H, = 69,216
KEFR—NEARR = 48 A& X 500 [ = 24,000 M HEt = 93,216 [
KER TR = 154 X (1& X 14 A) = 2,156 [
KR 7 HA ) = 14& X500 = 500 [ Gt = 2,656 H
SR R = 122,320 [
[ZRMEHREEETE]
TARERUERER = 24 A X 19.3 kg/A = 463.2 kg
KIEVFAR—NEREE = 48 A& X 7.5 kg/A = 360 kg
KIER T EfkERE = 15 X 12.3kg/B = 12.3 kg

SCPRAA S F A = 835.5 kg = 0.836 t
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